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I ’'n mwn: mixture of o7 with invalid o7 at different stages
a if: they mixed as one group — all spilt into nnr
b but if: each remained in its own v13 but the mo1 got mixed —
i ~77if one V1) was offered (used for np» 1), all may be used
1 note (71958 77): X" only allowed using 2 at a time (per above, with heads)
(a) challenge: nan (next line) stress “even if only 1 were left” (8" should agree are “out”) (a: “1” > “1 pair”)
ii ~ o’wom even if all (but one) were offered, the remainder should be spilt into the nnr
1 justification (of dispute o'pan/8"1in re 11012 as well as “heads”)
(a) if: we were only taught about “heads”, 70 that 8" permits since the n193 was already accomplished
(b) and if: we were only taught moi, 8”70 that 0’non would agree to allow - 9%
II v mwn: mixture of valid onT - some belong “up” and some belong “below”
a  ~77 put all above, imagine o7 of the “nonb” as if it were water, then perform mann below
b onom all spilt out into nnr
i however: if the 103 didn’t ask and performed minn per ®"7’s outline - 7w
III > mwn: mixture of valid o'n7-1/1, 4/4/ and Y4
a if: 1/1 (e.g. M2 with 7wyn) — perform one mnn
b if 4/4 (e.g. "9 with DnYw) — perform 4
¢ butif4/1 (e.g. 9y with qwyn):
i ~”2 perform 4
i ywyp 1 perform 1
1 arguments:
(a) &77 performing 1 is a violation of yan &%
(b) > performing 4 is a violation of 4010 X5
(i) 77 9o Ry is only considered if the object is on its own (not part of a nayyn)
(ii) »7z YN Ry is only a violation if the object is by itself (not part of a nayyn)
1. further: by doing 4, the violation is active (012 nwyn); prefer “passive” violation ("wyn Yx1 av)
IV backdoor ®mv - re: mixing of liquids
a  R:v M9 if a vial of nkon 'n had water fall in
i a7 perform 2 mrt and the recipient is v
ii  ppominvalid for use
1 analysis:
(a) wunderstood: mnon —maintain n%a v (liquids mix); NRrn requires a MYV and MK cannot be combined
(b) but: ®"'s position is difficult
(i) he must maintain: N2 v, else how would 2 mxri help? perhaps both are water
(ii) and he must hold: nRtn requires a minimum MYV, else no need for 2
(iii) and he must hold: mxth can be combined, else how does the 2 help
1. challenge: even if they can combine, perhaps he got mainly water (and was short of the 1yw)
2. answerl (5”9): case was 1 to 1 ratio (2 mxtn would be exactly 1 nrrn 119w of nron ')
3. answer2 (827): he really holds 1w Py, this is a 132297 vIp to ensure that no one mixes o’n in nxRoN M
4. answer3 (»wn 77): he holds n%1 PR, and must do a second in case the 1%t was the (0w 93 of) water
a. challenge (to 57, that 8”7 holds there is a ANt 19): 227 claimed that according to 8™, Rt
has no 1w = if %2 is 909, still valid
b.  furthermore: Rn»121 (expanding on our mwn) reports that 8" ruled that if upper and lower
N7 get mixed, put above and the lower ones count
i.  but:if he holds n%a R, perhaps the ones put below were 119y and vice-versa
ii. defense: case - mainly D119, and he puts the amount of n»nnn plus a bit above
iii. however: it states “15 15y wNNN”
iv. answer: they count — for n»v
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c.  challenge: if he put the mix below (w/o asking), X" rules that he should then put above and
the lower ones count
i.  as above: it was mainly 02119y and he put the amount of n»innn+ above
il. and: 9 1oy - for oY

d. challenge: if he put the mix above (w/o asking), all agree that he should then put the mix
below and both count
i.  again: the case where a majority were 015y and he put the amount of wnnnn+ above
ii. challenge: it states 17 19» 1981 19R — we assume X" concurs
iii. rejection: this clause works for 1327 — who accept n%a

e. challenge: our mwn —if 'R 1nn gets mixed with 'R 1nn — put once on nam
i.  butif: n9a PR, perhaps he only gave from one
ii. answer: there was exactly 71w of one ninn of each

f.  challenge: our mwn — if 1 1nn gets mixed with "7 1nn — put four on nam
i.  answer: MYV of 4 was mixed with 1w of 4

g. challenge: if 4 get mixed with 1 (dispute »1/x8™)
i.  and here: we cannot argue that there was only the amount of one ninn
ii. reason: ywin’ " couldn’t argue for vIn %1 - there’s no “overuse” here

5. rather (837): dispute is not about 053, they only disagree when the mv get mixed up
a. ~”7employs "PR1Y”
b.  rpom don’t accept "Pr1Y”
6. challenge: they do disagree about %193, per nT '7’s report:

a. they agree: in case of nRvn 07 mixed with n%y o7 - offer it

b.  they agree: in case of Y171 — don’t offer

c.  disagree: about N nn 0T mixed with n”pa oT; 8™ argues that even %2 should be brought,
o'non disallow in both cases (= they disagree about %11)
i.  answer: " 1 understands the dispute that way; 1327 — only disagree re: mo1

V' Analysis of "0 mwn — dispute n'non/x™ about mixture of nnm 0NVYY DT
»aR: dispute only when neither nkon nor n%1» have yet been offered

a

i
ii

iii

iv

but: if the nxron only has 0”7 to spill and the 1% has yet to be offered — all agree (below)
reason: the locus of the n% o7 (below) is the same as the locus for 01w
1 challenge (907 27): N 27 ruled that 0»w require a “roof” (i.e. the top of the 110, not the wall of the narn)
2 note: this dispute is replicated in »}; 51 ("PYNRWY '77):7aR, PYHR “1/1INY 0P 27
support (as challenge to 77 73): v. 1 on w1p > if 1121 07 got mixed with Ny o7, offer together
1 assumption: reference is Ny o with 7121 07 2> %Y DIPHR=0771VY DIPN
2 rejection: reference is N9y n%nn with 71192 07 = PY%1Y do not nullify each other
(a) challenge: that is inferred from v. 2
(i) defense: it is a dispute among n>Rin; some derive from v. 1, others from v. 2
challenge (¥37): it is inferred from v. 3, which expands on 7,07 to include any wnnnn ©nT that mix
1 assumption/rejection: as above = 19y do not nullify each other
2 therefore: there are three possible derivation; vv. 1, 2 or 3
(a) refusal to use verse 2: they hold that o7 isn’t mixed until after o291 np 1NN
(b) refusal to use verse 3: they don’t accept significance of “n7”, "071”
(c) refusal to use verse 1: they understand nn wTp as blocking out 1132 n7nn (not offered)
(i) defense: that is inferred from v. 4 — it is offered, not its “replacement” (n7nn)
support (for »an): ruling that if up/down got mixed and he placed above (w/o asking), all agree that he should
then place below and both “count”
1 assumption: mixture is n9p/nRvnN, once he placed up, all that remains of nkon is B?PY-> 07 PY DIPN ANY DIPN
2 rejection: in "R, they referenced this ruling to a case of n11¥'n nxron mixed with n'n71a nron MW (both n»PWY)
(a) challenge (»7a5): why not make it nn®'n nron with Nnx'n nron 1»PV?
(b) perhaps: it teaches that even according to 1n that 2dyn mnna nroN 1Y, if some are missing — w2
(i) challenge: we already understood that that ruling was a case of ©211%y 117 and he put the amount of
onnn plus a bit above (so there was assuredly some 019y placed there)
(i) answer (X2227): that was according to approach that the dispute was about n>a
(iii) but: since we established that all agree that N1 v, the dispute is only about a mixture of mv12, not
DT in one v
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